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import turtle

turtle.forward(100)
turtle.right(100)
turtle.forward(100)

import turtle as t

t.forward(100)
t.right(100)
t.forward(100)
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: “arrow”, “turtle”, “circle”, “square”, “triangle”, “classic”.

> - >

7|12 AHL0| ZIu 74£0] M2 7H=0|
t.shape("classic”) t.shape("turtle”)  t.shape(“triangle”)
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» X3 AFR3HE 20| 20T HHO |

2 29 INE=N:
forward({2|)/ fd(A2l) | HA=0[7t 2= O|&&L|C}. t.forward(100) # H=0|7}1002HE ¥ 2 = 0|5 TfL|C}.
backward(* 2]) HEO|7t H 2 0| 5¢8tL|C}. t.back(50) # 7 =£0|7} 508H2 F| 2 0| =L},
/ back(#2])
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up( ) / penup() w2 ol ne))= SELULL | tup() # =07t 2E0j & MO| 2 X|X| L& L|Ct,
shape(“Z &) HE0| 22 HhEL|CE, t.shape("turtle") # XUN HEO0 | Qfo 2 X|ATtL|Ct,
t.shape("arrow") # 2t H 29| 7-|:.1—O|§ X| ™ st Ct,
¥ HE0| 2O Z "circle", "square"”, "triangle"= AtE2 Y 5= Q&L L.
speed(E k) H=0| £ =& HhEL|C} t.speed(1) N R =y e
t.speed(10) #HE £
t.speed(0) A L=
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pensize(7 7|) / width | H =7|Z HtE&L|C}. t.pensize(3) #E2 Moz Mg Ozt
color(“M O| & H M-S Hhg L Cf t.color("red") pEZtMo 2 M8 2Lt
bgcolor(“M 0| & ot HO| b A = Hig L[ Lt t.bgcolor("black")  # H{ B S SIAM0| M 222 = Hig LT}

fillcolor(“A O| &~

At2|et e = &= -LIC

o : " " = A O o L|BHE XISk |C
HhEL|C} t.fillcolor("green") #=MO=Z = LIEE AHotL|Ct
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begin_fill( ) Y L2 E MAS FH|E SHLICE | t.begin_fill() # 20| 2EQS MAISH Z=H|Z S| C}
end_fill( ) ¥ LR E ALt t.end_fill() # begin_fill( ) O| S & E X|27X| 22 18
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showturtle( ) / st() HS0|E 2HO| TASLICE, t.st() # 7 20| 2 tHO| HA|SHL|CHTZ| L ALER).
hideturtle( ) / ht() HEO0|E 2tHO| A ZHEIL| L} t.ht() # 7{E20|2 =ZL|C},
clear() H=0|E A2 & X 2tHZ t.clear()

Xl& L.
reset( ) SIHE X1 AHAFO0[ = Ay t.reset()
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t.color("purple”)

t.begin_fill()
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turtle as t

50

t.bgcolor("black")
t.color(“green")
t.speed(0)
X 1N range(n):
t.circle(80)
t.left(360/n)
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turtle as t

angle = 89

t.bgcolor("black")
t.color("yellow")
t.speed(0)
X 1n range(200):
t.forward(x)

t.left(angle)
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name = input("Your name? ") # 0|52 U0} name B0 M7

print("Hello", name) # Hello2t E7H names =8
» Al A

Your name? ZZHl
Hello Z 2 &
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= Input(

name
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» LO|MO|A Xtz AtESH= A2

AEd | EO{0|§ | mo|M &7 a4 af
M Integer int 280l gl F -2,-1,0,1,2,3
Floating- 2=H()0| /UeE =
e float ’ -3.5,0.0, 1.25, 5.0
— T | point number Esardeetn: FEICL
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® type(1)

® type(-3.5)

® type(“hello”)
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print(a + b)
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# a2t b

print(a * b)
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X = Iinput("?")
a = int(x)

x = input("?")
int(x)

print(a * b)
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d(int) 2 BHHA a0l 25

a = int(input("?"))
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b = int(input("?"))

print(a * b)
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» time

input("E|E =27 2058 HLICL)
start = time.time()

input("20z= 20| CrA| AEE =& L L")
end = time.time()

diff = end - start
print("= A A[ZF:", diff, "2=")
print("XtO[ ", abs(diff - zﬁ),e'rgdanﬁaWM start A|ZHS
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